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2  Short notes : (any two) 20
(1) Effects of monopoly.
(2) Explain the factors affecting the rate of
interest.
(3 Wage determination under perfect competition.
(4) Explain the risk and uncertainty theory of
profit.
3  Short questions : (any six) 12
(1) Explain the difference between the firm and
industry.
(2) Explain the types of price discrimination.
(3) What is monopoly and oligopoly ?
(49 What is Dumping ?
(5) Explain the concept of explanation of labour.
(6) Explain the difference between the monetary
wage and real wage.
(7) What is Contractual Rent ?
(8) What is liquidity preference according to
Keynes ?
(99 Why is selling cost necessary in monopolistic
competition ?
3 MCQ.: 10
(1) Under monopoly
(A) MR = AR
(B) MR > AR
(C) MR < AR
(D) None of the above
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Modern theory of rent is concerned with
(A) Differential Rent

(B) Scarcity Rent

(C) Contractual Rent

(D) Monetary Wages

Labour is ready interested in

(A) Monetary Wages

(B) Real Wages

(C) Monetary and Real Wages

(D) None of the above

Gross Profit is

(A) Less than net profit

(B) Equal to net profit

(C) More than net profit

(D) None of the above

From the point of view of Income quasirent
is a

(A) Long run phenomenon

(B) Short run phenomenon

(C) Medium run phenomenon

(D) None of the above

Which is the condition of Normal profit under
perfect competition ?

(A) AR = AC

(B) AR > AC

(C) AR < AC

(D) None of the above

If there is a monopoly on the part of both the
seller and buyer it is called

(A) Oligopoly
(B) Dual monopolistic market
(C) Bilateral monopoly

(D) Monopoly
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Interest is a pure monetary phenomenon —
statement is given by

(A) Prof. Robertson

(B) Prof. Piagu

(C) Prof. Geynes

(D) Prof. Fisher

Which law of returns is applicable in marginal

- productivity theory ?

(10)

(A) Diminishing returns
(B) Equal returns

(C) Increasing returns
(D) Neither

Product differentiation is which market’s
important feature ?

(A) Perfect competition

(B) Net competition

(C) Monopolist competition
(D) Monopoly
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